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Protocol Port # Application
UDP 53 DNS
UDP 6/ BOOTP server
UDP 68 BOOTP client
UDP 520 RIP
TCP 20 FTP data
TCP 21 FTP Control
TCP 23 Telnet
TCP 25 SMTP
TCP 80 HTTP
TCP 119 NNTP




Simple Network Management Protocol >
SNMP

Dynamic Host Configuration Protocol >
DHCP

Domain Name System > DNS
Real-Time Transport Protocol » RTP
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Verbindung pytp Verbindung
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TCP Verhindung TCP Verbindung
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In a client-server environment a communicating server-
process has to maintain several sessions (and also
connections) to different targets at the same time.

Therefore, a single port has to multiplex several virtual
connections. These connections are distinguished through
sockets.

The combination IP address and port number is called a
"socket.. For example: 10.1.1.2:80 [IP-Address : Port-
Number]



Server

Connection 1:
Socket 10.1.1.8 : 80
Socket 10.1.1.2 ; 4711

Connection 2:
Socket: 101,19 : 80

Socket: 10,119 7312
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Connection 2:

Sockat: 10.1.1.9: B0
Sockat: 10.1.1.5 2?312




UDP User Datagram Protocol
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Pseudo- [ Source IP address
header Destination IP address
— { 0 Protocol (17) UDP datagram length
IP header 0 15 16 il
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UDP header Source UDP port Destination UDP port
(8 bytes) Length Checksum




Transmission Control Protocol (TCP)
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TCP 4

Source IIP address

Pseudo-
header Destination IP address
Protocol (6) TCP segment length
0 4 10 16 31
IP header Source TCP port Destination TCP port
(20 bytss topt) Seque nce number
;gncfjﬁ fﬂ{ﬁ Ack nowle dge me nt number
Hdr.len.| - Flags Window size
L Checksum Urgent pointer
Options (if any)
Data (if any)

URG|ACK PSH|RST|S YN| FIN |




TCP 3 way Handshaking

ACK=7?
SEQ = 730 (random)

ACK = 401
SEQ =731

ACK = 401
SEQ =731
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SYNCHRONIZED

ACK=7?
SEQ = ? (idle)

ACK =731
SEQ =400 (random)

ACK =731
SEQ =
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TCP vs. UDP

TCP UDP
connection-oriented connectionless
confirmed service unconfirmed service
(request, indication, (request, indication)

response, confirm)

high overhead low overhead

(header 20 octets) (header 8 octets)

flow control no flow control



